DB-Killer N°32B
Cod.307762801

Grower @5 Cod.202286
Allen screw M5X8 T.C.E.I. INOX
Cod, 204213

Rubber cap
Cod.204790

Knurled collar nut M8

Cod.206718

Allen screw M8X45
TCEld. Z.B.
Cod.201450

Medium silencer]
NERO @i 50
SGI[€13]0430(® (C0d.3014009471 | =
v

Allen screw
M8X25 T.C.Z.B.
Cod 200314

Aluminium spacer]
SBK d.27X8.5
Co0d.204321
INnOX
bracket
Cod.206298 Short helical
spring
tensile
Co0d.204387
Short fube in
silicon rubber
Cod.204412
Art. 14022

SUZUKI GSX-S 1000 i.e./ GSX-S 1000 F i.e.
Slip-on LEOVINCE "NERO" <<MEDIO>>

Knurled collar
nut M8
Co0d.200298

Plain washer
D8xD24
Co0d.200321

Strap Iin stainless
steel + Bracket
Co0d.300051535

Pipe N°1063
Cod.301411220

Use rubber
protection from
original carter

Strap in stainless steel
D49
C0d.300049530

("15)

Passaggio STANDARD OMOLOGATO "EVOLUTION II"



